FrLITYUh

bYE LA 2

% I = Z31EA 6RDIDDHEE
ZBEAGH=LAIL I T

FIFREFR7 2

7 # 2 (11 0o&K)

1 780 = 3

2 4,296 = 6

3 5,635 -+ 7

4 5211 -+ o

5 2,728 =+ 8

6 750 = 50

7 5538 -+ 78

8 5,922 =+ 63

9 2,196 -+ 61

10 3,738 =+ 89

11 2,890 -+ 85

12 2,037 =+ 21

13 504 -+ 24

14 6,138 =+ 66

15 3,978 = 51
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FrLITYUh

bYE LA 2

% 2 = Z31Eh 6 RO DDHT
ZBEAGH=LAIL I T

FIFREFR7 2

7 # 2 (1E10%K)

1 4,767 = 7

2 2,376 =+ 3

3 4,572 -+ 6

4 1,520 =+ 5

5 960 - 4

6 6,882 -+ 74

7 840 - 56

8 1,519 =+ 49

9 5,394 -+ 87

10 7,290 =+ 920

11 o043  + 41

12 1,457 =+ 31

13 2,548 =+ 26

14 4,788 = 84

15 6,460 -+ 68
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bYE LA 2

% 3 = Z31EA 6RDIDDHEE
ZBEAGH=LAIL I T

FIFREFR7 2

7 # 2 (11 0o&K)

1 1,740 =+ 2

2 2,412 =+ 6

3 7,456 -+ 8

4 1,095 =+ 3

5 868 - 4

6 1,720 =+ 20

7 1,092 = 52

8 882 -+ 63

9 4,717 89

10 6,887 -+ 97

11 495 - 11

12 7,176 + 78

13 5,166 - 82

14 4,278 -+ 46

15 3,692 =+ 71
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FrLITYUh

bYE LA 2

% 4 = Z31EA 6RDIDDHEE
Z3IEA6R=LAL I T

FIFREFR7 2

7 # 2 (11 0o&K)

1 5,000 -+ 8

2 6,790 + 7

3 1,158 =+ 3

4 o924 -+ 2

5 3,540 -+ 5

6 860 - 10

7 5538 -+ 71

8 3,956 -+ 43

9 2,419 -+ 59

10 2,170 =+ 62

11 5,985 =+ 63

12 4,284 -+ 84

13 2,664 -~ 72

14 6,468 + 66

15 987 - a7
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FrLITYUh

bYE LA 2

% 5 = Z31EA 6RDIDDHEE
Z3IEA6R=LAL I T

FIFREFR7 2

7 # 2 (11 0o&K)

1 2,436 =+ 7

2 1,350 =+ 3

3 536 -+ 2

4 1,580 -+ 5

5 1,809 -+ o

6 3,772 =+ a1

7 5673 -+ 61

8 756 - 54

9 3,040 = 80

10 1,755 =+ 65

11 2,013 =+ 61

12 4,590 -+ 85

13 6,992 =+ 76

14 943 -+ 23

15 5586 -+ 57
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FrLITYUh

bYE LA 2

% 6 = Z31EA 6RDIDDHEE
ZBEAGH=LAIL I T

FIFREFR7 2

7 # 2 (11 0o&K)

1 2,700 =+ 5

2 1,968 -+ 4

3 1,004 =+ 2

4 2,250 =+ 6

5 594 - 3

6 5,429 =+ 89

7 2,408 -+ 56

8 1,825 =+ 73

9 888 -+ 74

10 5,220 =+ 920

11 3,915 = 87

12 372 -+ 12

13 2,418 + 26

14 3,198 =+ a1

15 6,435 -+ 65
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bYE LA 2

% 7 = Z31EA 6RDIDDHEE
Z3IEA6R=LAL I T

FIFREFR7 2

7 # 2 (11 0o&K)

1 1,628 =+ 2

2 2,915 =+ 5

3 7,680 + 8

4 5,397 -+ 7

5 836 - 4

6 7,998 =+ o3

7 4,864 = 76

8 3,520 = 80

9 3,692 =+ 52

10 899 - 31

11 s71 - 67

12 3,572 =+ 38

13 1,092 =+ 42

14 4,118 -+ 71

15 6,305 -+ 65
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FrLITYUh

bYE LA 2

% 8 = Z31EA 6RDIDDHEE
Z3IEA6R=LAL I T

FIFREFR7 2

7 # 2 (11 0o&K)

1 748 = 2

2 5,640 -+ s

3 2,412 -~ o

4 5,340 -+ 6

5 3,728 =+ 4

6 660 - 30

7 3,075 =+ 75

8 4,331 =+ 61

9 6,888 + 84

10 5,088 -+ o6

11 4,608 = 72

12 2,928 =+ 61

13 3,234 =+ 33

14 5,187 =+ 57

15 775 = 31
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FrLITYUh

bYE LA 2

% q = Z215h 6 BDT-DORE
Z3IEA6R=LAL I T

FIFREFR7 2

7 # 2 (11 0o&K)

1 1,608 ~+ 4

2 1,890 =+ 3

3 750 = 2

4 1,155 =+ 5

5 3,992 = 8

6 950 -+ 50

7 4,233 =+ 51

8 6,298 -+ 94

9 2,432 =+ 76

10 3,402 =+ a2

11 1,575 =+ 63

12 4,462 -+ 46

13 780 = 65

14 8,178 -+ 87

15 1,558 =+ 41
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FrLITYUh

bYE LA 2

% 10 B Z31EA 6RDIDDHEE
ZBEAGH=LAIL I T

FIFREFR7 2

7 # 2 (11 0o&K)

1 1,830 =+ 6

2 2,142 =+ 3

3 920 -+ 2

4 3,367 -+ 7

5 5256 -+ 8

6 480 - 30

7 1,176 =+ 49

8 3,060 -+ 85

9 4,189 =+ 71

10 1,008 =+ 84

11 576 -+ 48

12 6,279 =+ 69

13 2,738 + 7Aa

14 8,170 -+ 86

15 3,286 -+ 53
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FrLITYUh

bYE LA 2

% I B Z31EA 6RDIDDHEE
Z3IEA6R=LAL I T

FIFREFR7 2

7 # 2 (11 0o&K)

1 3,468 - 4

2 2,340 -+ 6

3 2,705 =+ 5

4 2,172 =+ 3

5 763 = 7

6 o924 -+ 84

7 3,570 =+ 42

8 1,860 -+ 20

9 2,765 -+ 79

10 3,843 =+ 63

11 2,312 =+ 68

12 1,166 -+ 22

13 7,098 + 78

14 994 -+ 71

15 8,160 -+ 85
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FrLITYUh

bYE LA 2

% 12 = Z31Eh 6 RO DDHT
ZBEAGH=LAIL I T

FIFREFR7 2

7 # 2 (1E10%K)

1 3,360 =+ 8

2 4,689 -+ o

3 3,604 = 4

4 456 - 3

5 4,438 + 7

6 1,275 =+ 51

7 2,772 =+ 63

8 1,424 =+ 89

9 7,020 =+ 90

10 546 -+ 42

11 735 =+ 21

12 7,968 -+ 83

13 3,848 - 52

14 7,144 -+ 76

15 3,888 =+ 81
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